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1 (10%) Convert the number 37.625 in 32-bit IEEE 754 format.
2 (10%) Show the result of the following operation using 8-bit 2’s complement format. Please convert the result to decimal.

59-121
3 (10%) Assume that the frequency of the characters is as below:
Character A B C D E

Frequency 32 20 11 23 14
3.1  Encode the text: BECAD
3.2 Decode the Huffiman code: 101000110011101
4 (10%) Draw a flowchart for finding and printing the average of a list of N integers.
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#include <iostream>

using namespace std;

void swapl(int x,int y) { void show(int x, int y) {
int  t=x; cout << x << " " <<y <<endl;
x=y; y=t; } ,

} int main()

void swap2(int *x, int  *y) { { intpl=3,ql=5;
it t=*x; int p2=3,q2=>5;
*x="ry; Fy=t; int p3=3,q3=>5;

} swapl(pl, ql);show(pl,ql);

void swap3(int &x,int &y) { swap2(&p2, &q2); show(p2,q2);
int t=x; swap3(p3, q3); show(p3,q3);
x=y; y=t; return O;

} }
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